X AN >\ ¢ —_—
9 MEEZ2RABERFLB 2 ==> RY 9
1 +
AYA
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
1 NS: 228 Z1E¥GHO) 30 21 NS: &R $BIZH(BAC) -6| VP:| 17.51 2.49 Total VP: 102.51 Rank:
EW: =0 REREAC) 6 EW: S2[E SBEIE (BAO) -3| IMP:| 34 6 4
— I
# 11 s QJT42 5CXW-1100 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 4SXE-3 500 Mean: 5HN5 650 4.0 1
v Q975 4HXS-2 -300 -160 5CW-1 50 50 3 v KQ92 3NS3 600 500 4HS5 650 4.0 1
¢ J53 Dif: 400 NS:6 3HS-1 -50 30 1 ¢ T982 Dif: 100 NS:0 5DN5 600 3.0 2
%6 IMP: 9 EW:4 4SN-2 4100 20 1 & AQJ4 IMP: -3 EW:-3 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 ||e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 P eVABN L, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3NS4 630 Mean: 3NS5 660 30 6 ||# 14 a4 2NN-2 -100 Mean: 3NS3 400 9.0 1
v J2 3NS5 660 540  3NS4 630 30 7 v AT3 1NN-1-50 -10  2NS2 120 40 1
¢ AKT8752 Dif: -30 NS:3  3NN5 660 3.0 2 ¢ AT763 Dif: -50 NS:-3 2NN2 120 40 1
& AT7 IMP: -1 EW:-3 3NS3 600 20 1 & K753 IMP: -2 EW:1 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 -3.0 1
S 24 ~~4 ¢+Q4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 18S-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 2SW2 -110 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 2SW-2 200 Mean: 3CE-2 200 50 1
v 92 1SW2 -110 -130  2NE- 50 50 1 v A642 3CE4-130 10  2SW-2 200 50 1
+ Q95 Dif: 0 NS:1 2DE-1 50 50 1 ¢ 63 Dif: 330 NS:5 3NE-1 100 30 1
& AT532 IMP: 0 EW:-1  2SW2 410 1.0 2 » 874 IMP: 8 EW:4 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 25W4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 -70 1
# 17 » J94 4HWS5 -450 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 3NS5 660 Mean: 3NS6 690 3.0 1
v6 4HWS5 -450 -470  4HE4 420 20 1 v A43 3NS5660 590 3NS5 660 2.0 8
* AK2 Dif: 0 NS:1 4HW5 450 1.0 12 ¢ T9 Dif: 0 NS:2 3Ns4 630 1.0 3
& QT8643 IMP: 0 EW:-1 4HE5 450 1.0 4 & AKQ87 IMP: 0 EW:-2 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 %o VAN 4, KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QIT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
W ~~5-~2 W~~~
# 19 & AK954 4HE-1 100 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 2HE-1100 Mean: 2HE-1 100 60 1
v KT5 4HE4 -620 -290  5HE-1 100 9.0 1 v KJT 2DS-1-100 -140 2DS2 90 60 1
92 Dif: 720 NS:9 4HE-1 100 9.0 5 + QJ82 Dif: 200 NS:6 1NE1 -90 20 1
& 532 IMP: 12 EW:8 3DS-1 50 6.0 1 & QT IMP: 5 EW:-1 2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ ¢8 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2 500 -8.0 1




X AN >\ ¢ —_—
9 MEEZ2RABERFLB 2 ==> RY 9
AYA . o
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
2 NS: E=EE EHRZBEO) 11 5 NS: BRI REE(BAC) -6 VP:| 14.00 : 6.00 Total VP: 102.15 Rank:
EW: EE&H 2k J51EEAC) 6 EW: MRIE ZaIE(BA0) -1 IMP:| 29 17 5
—
# 11 s QJT42 4HXS-2 -300 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 4HS5 650 Mean: 5HN5 650 4.0 1
v Q975 4CW4 130 -160  5CW-1 50 50 3 v KQ92 4SXE-3 500 500  4HS5 650 4.0 1
¢ J53 Dif: -170 NS:-4 3HS-1 -50 30 1 ¢ T982 Dif: 150 NS:4 5DN5 600 3.0 2
%6 IMP: -5 EW:-1 4SN-2 4100 20 1 & AQJ4 IMP: 4 EW:0 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 |]|e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 P eVABN L, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3NS5 660 Mean: 3NS5 660 30 6 ||# 14 a4 2NN-1 -50 Mean: 3NS3 400 9.0 1
v J2 2DN4 130 540  3NS4 630 30 7 v AT3 2NN2120 -10  2NS2 120 40 1
¢ AKT8752 Dif: 530 NS:3  3NN5 660 3.0 2 ¢ AT763 Dif: -170 NS:-1  2NN2 120 40 1
& AT7 IMP: 11 EW:9 3NS3 600 20 1 & K753 IMP: -5 EW:-4 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 -3.0 1
S 24 ~~4 ¢+Q4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 18S-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 3NE3 -400 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 2DS2 90 Mean: 3CE-2 200 50 1
v 92 2SW3 -140 -130  2NE-1 50 50 1 v A642 2DS290 10  2SW-2 200 50 1
+ Q95 Dif: -260 NS:-7 2DE-1 50 50 1 ¢ 63 Dif: 0 NS:2 3NE-1 100 30 1
& AT532 IMP: -6 EW:0 2SW2 410 1.0 2 » 874 IMP: 0 EW:-2 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 25W4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 -70 1
# 17 » J94 4HE4 -420 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 3NS5 660 Mean: 3NS6 690 3.0 1
v6 4HWS5 -450 -470  4HE4 420 20 1 v A43 3NS4 630 590 3NS5 660 2.0 8
* AK2 Dif: 30 NS:2 4HW5 450 1.0 12 ¢ T9 Dif: 30 NS:2 3NS4 630 1.0 3
& QT8643 IMP: 1 EW:-1 4HE5 450 1.0 4 & AKQ87 IMP: 1 EW:-1 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 % ¢ VAN 4, KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QIT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
W ~~5-~2 W~~~
# 19 & AK954 4HE-1 100 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 2NE2 -120 Mean: 2HE-1 100 60 1
v KT5 4HE4 -620 -290  5HE-1 100 9.0 1 v KJT 1NE1-90 -140 2DS2 90 60 1
92 Dif: 720 NS:9 4HE-1 100 9.0 5 + QJ82 Dif: -30 NS:1 1NE1 -90 20 1
& 532 IMP: 12 EW:8 3DS-1 50 6.0 1 & QT IMP: -1 EW:-2 2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ 98 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢ KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2 500 -8.0 1




X AN >\ ¢ —_—
9 MEEZ2RABERFLB 2 ==> RY 9
1 +
AYA
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
3 NS: Z$EE( EHF1(BEO) -16 8 NS: PR REE(BAC) -11 VP:| 8.50 11.50 | Total VP: 90.95 Rank:
EW: E$553 8FEREEAC) 11 EW: 221# #iZiHB(F0) 16 IMP:| 9 13 12
— I
# 11 s QJT42 3NE3 -400 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 4SXE-3 500 Mean: 5HN5 650 4.0 1
v Q975 5HXS-4 -800 -160  5CW-1 50 50 3 v KQ92 5DN5 600 500  4HS5 650 4.0 1
¢ J53 Dif: 400 NS:-6 3HS-1 -50 30 1 ¢ T982 Dif: 100 NS:0 5DN5 600 3.0 2
%6 IMP: 9 EW:12 4SN-2 4100 20 1 & AQJ4 IMP: -3 EW:-3 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 |]|e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 P eVABN L, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3NS4 630 Mean: 3NS5 660 30 6 ||# 14 a4 3CN-2-100 Mean: 3NS3 400 9.0 1
v J2 3NN5 660 540 3NS4 630 30 7 v AT3 3NN-2 -100 -10  2NS2 120 40 1
¢ AKT8752 Dif: -30 NS:3  3NN5 660 3.0 2 ¢ AT763 Dif: 0 NS:-3 2NN2 120 40 1
& AT7 IMP: -1 EW:-3 3NS3 600 20 1 & K753 IMP: 0 EW:3 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 30 1
S 24~~4 oQ4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 18S-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 2SW3 -140 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 2CE4 -130 Mean: 3CE-2 200 50 1
v 92 1NE2 -120 -130  2NE-1 50 50 1 v A642 2CE-1100 10  2Sw-2 200 50 1
+ Q95 Dif: -20 NS:0 2DE-1 50 50 1 ¢ 63 Dif: -230 NS:-4 3NE-1 100 30 1
& AT532 IMP: -1 EW:0 2SW2 410 1.0 2 » 874 IMP: -6 EW:-3 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 25W4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 -70 1
# 17 » J94 4HWS5 -450 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 3NS3 600 Mean: 3NS6 690 3.0 1
v6 4HWS5 -450 -470  4HE4 420 20 1 v A43 3NN4 630 590 3NS5 660 2.0 8
* AK2 Dif: 0 NS:1 4HW5 450 1.0 12 ¢ T9 Dif: -30 NS:0 3NS4 630 1.0 3
& QT8643 IMP: 0 EW:-1 4HE5 450 1.0 4 & AKQ87 IMP: -1 EW:-1 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 %o VAN 4, KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QIT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
W ~~5-~2 W~~~
# 19 & AK954 4HE4 -620 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 1NE2 -120 Mean: 2HE-1 100 60 1
v KT5 4HE4 -620 -290  5HE-1 100 9.0 1 v KJT 2DN-1-100 -140 2DS2 90 60 1
92 Dif: 0 NS:-8 4HE-1 100 9.0 5 + QJ82 Dif: 20 NS:1 1NE1 -90 20 1
» 532 IMP: 0 EW:8 3DS-1 50 6.0 1 & QT IMP: -1 EW:-1  2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ ¢8 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2 500 -8.0 1




X AN >\ ¢ —_—
9 MEEZ2RABERFLB 2 ==> RY 9
AYA . o
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
4 NS: BRZEEZZ JeEI(GEO) -20 1 8 NS: #t#88 ERHEE(BAC) 16 VP:| 1.29 18.71| Total VP: 73.68 Rank:
EW: BREE BEEE(HIC) -16 EW: ¥ 518 FE1E(BAO) 20 IMP:| 7 43 20
—
# 11 s QJT42 3NE3 -400 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 3NS3 600 Mean: 5HN5 650 4.0 1
v Q975 5CXW-1100 -160 5CW-1 50 50 3 v KQ92 4SXE-2 300 500  4HS5 650 4.0 1
¢ J53 Dif: -500 NS:-6 3HS-1 -50 30 1 ¢ T982 Dif: 300 NS:3 5DN5 600 3.0 2
%6 IMP: -11 EW:-6 4SN-2 4100 20 1 & AQJ4 IMP: 7 EW:5 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 |]|e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 P eVABN L, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3NS4 630 Mean: 3NS5 660 30 6 ||# 14 a4 1S8S-3 -150 Mean: 3NS3 400 9.0 1
v J2 3NS5660 540 3NS4 630 30 7 v AT3 3NS3400 -10  2NS2 120 40 1
¢ AKT8752 Dif: -30 NS:3  3NN5 660 3.0 2 ¢ AT763 Dif: -550 NS:-4 2NN2 120 40 1
& AT7 IMP: -1 EW:-3 3NS3 600 20 1 & K753 IMP: -11 EW:-9 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 -3.0 1
S 24 ~~4 ¢+Q4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 18S-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 2SE3 -140 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 2HE2 -110 Mean: 3CE-2 200 50 1
v 92 2SW3 -140 -130  2NE-1 50 50 1 v A642 2DS290 10  2SW-2 200 50 1
+ Q95 Dif: 0 NS:0 2DE-1 50 50 1 ¢ 63 Dif: -200 NS:-3 3NE-1 100 30 1
& AT532 IMP: 0 EW:0 2SW2 410 1.0 2 » 874 IMP: -5 EW:-2 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 25W4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 -70 1
# 17 » J94 4HWS5 -450 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 3NS5 660 Mean: 3NS6 690 3.0 1
v6 4HWS5 -450 -470  4HE4 420 20 1 v A43 3NS5660 590 3NS5 660 2.0 8
* AK2 Dif: 0 NS:1 4HW5 450 1.0 12 ¢ T9 Dif: 0 NS:2 3Ns4 630 1.0 3
& QT8643 IMP: 0 EW:-1 4HE5 450 1.0 4 & AKQ87 IMP: 0 EW:-2 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 %o VAN 4, KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QIT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
wv ~~5~2 W~~~ ~~
# 19 & AK954 4HE4 -620 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 3DXN-2 -500 Mean: 2HE-1 100 60 1
v KT5 3DXS-2-300 -290 5HE-1 100 9.0 1 v KJT 3DN-2-200 -140 2DS2 90 60 1
92 Dif: -320 NS:-8 4HE-1 100 9.0 5 + QJ82 Dif: -300 NsS:-8 1NE1 -90 20 1
» 532 IMP: -8 EW:0 3DS-1 50 6.0 1 & QT IMP: -7 EW:2 2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ 98 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢ KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2 500 -8.0 1




X AN >\ ¢ —_—
9 1NEFF2ABEEEFR 2 == RI 9
AYA . o
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
5 NS: BE5AFH REZEEHC) -6 2 NS: SHE1E =% (F0) 11 VP:| 6.00 14.00 | Total VP: 90.74 Rank:
EW: #f BIE S=iiEEH0) -11 EW: EZE M L/IE(RAC) 6 IMP:| 17 29 13
—
# 11 s QJT42 4HXS-2 300 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 4HS5 -650 Mean: 5HN5 650 4.0 1
v Q975 4CW4 130 -160 5CW-1 50 50 3 v KQ92 4SXE-3 -500 500  4HS5 650 4.0 1
¢ J53 Dif: 170 NS:1  3HS-1 -50 30 1 ¢ T982 Dif: -150 NS:0 5DN5 600 3.0 2
%6 IMP: 5 EW:4 4SN-2 4100 20 1 & AQJ4 IMP: -4 EW:-4 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 |]|e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 #¢VAN 4, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3NS5 -660 Mean: 3NS5 660 30 6 ||# 14 a4 2NN-1 50 Mean: 3NS3 400 9.0 1
v J2 2DN4 -130 540  3NS4 630 30 7 v AT3 2NN2 -120 -10  2NS2 120 40 1
¢ AKT8752 Dif: -530 NS:-9 3NN5 660 3.0 2 ¢ AT763 Dif: 170 NS:4 2NN2 120 40 1
& AT7 IMP: -11 EW:-3 3NS3 600 20 1 & K753 IMP: 5 EW:1 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 30 1
S 24~~4 oQ4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 1Ss-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 3NE3 400 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 2DS2 -90 Mean: 3CE-2 200 50 1
v 92 2SW3 140 -130  2NE-1 50 50 1 v A642 2DS2-90 10  2SW-2 200 50 1
+ Q95 Dif: 260 NS:0 2DE-1 50 50 1 ¢ 63 Dif: 0 NS:2 3NE-1 100 30 1
& AT532 IMP: 6 EW:7 2SW2 410 1.0 2 » 874 IMP: 0 EW:-2 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 2swW4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 7.0 1
# 17 » J94 4HE4 420 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 3NS5 -660 Mean: 3NS6 690 3.0 1
v6 4HWS5 450 -470  4HE4 420 20 1 v A43 3NS4 -630 590 3NS5 660 2.0 8
* AK2 Dif: -30 NS:1  4HW5 450 1.0 12 ¢ T9 Dif: -30 NS:1  3NS4 630 1.0 3
& QT8643 IMP: -1 EW:2 4HE5 450 1.0 4 & AKQ87 IMP: -1 EW:-2 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||e Q52 I v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 L X2 N & KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QIT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
W ~~5-~2 W~~~
# 19 & AK954 4HE-1 -100 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 2NE2 120 Mean: 2HE-1 100 60 1
v KT5 4HE4 620 -290 5HE-1 100 9.0 1 v KJT 1NE190 -140 2DS2 90 60 1
92 Dif: -720 NS:-8 4HE-1 100 9.0 5 + QJ82 Dif: 30 NS:2 1NE1 -90 20 1
& 532 IMP: -12 EW:-9 3DS-1 50 6.0 1 & QT IMP: 1 EW:-1 2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ 98 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢ KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2  -500 -8.0 1




X AN >\ ¢ —_—
9 1NEFF2ABEEEFR 2 == RI 9
AYA . o
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
6 NS: =5t ZTEEIE(GH0) 20 1 1 NS: EFE REI5(BAC) -12 VP:| 16.78 : 3.22 | Total VP: 86.38 Rank:
EW: B2 BEEREEAC) 12 EW: $Z3555 [RER(FH0) -2| IMP:| 44 20 16
— I
# 11 s QJT42 5CW-150 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 4SXE-3 500 Mean: 5HN5 650 4.0 1
v Q975 5CXW5 -550 -160 5CW-1 50 50 3 v KQ92 4SXE-3 500 500  4HS5 650 4.0 1
¢ J53 Dif: 600 NS:5 3HS-1 -50 30 1 ¢ T982 Dif: 0 NS:0 5DN5 600 3.0 2
%6 IMP: 12 EW:9 4SN-2 4100 20 1 & AQJ4 IMP: 0 EW:0 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 |]|e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 #¢VAN 4, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3DN4 130 Mean: 3NS5 660 30 6 ||# 14 a4 1NN1 90 Mean: 3NS3 400 9.0 1
v J2 3NS5660 540  3NS4 630 30 7 v AT3 2NN-1-50 -10  2NS2 120 40 1
¢ AKT8752 Dif: -530 NS:-9 3NN5 660 3.0 2 ¢ AT763 Dif: 140 NS:3  2NN2 120 40 1
& AT7 IMP: -11 EW:-3 3NS3 600 20 1 & K753 IMP: 4 EW:1 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 -3.0 1
S 24 ~~4 ¢+Q4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 1Ss-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 2DE-150 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 2DS3 110 Mean: 3CE-2 200 50 1
v 92 2SW3 -140 -130  2NE-1 50 50 1 v A642 2CE4-130 10  2SW-2 200 50 1
+ Q95 Dif: 190 NS:5 2DE-1 50 50 1 ¢ 63 Dif: 240 NS:3  3NE-1 100 30 1
& AT532 IMP: 5 EW:0 2SW2 410 1.0 2 » 874 IMP: 6 EW:4 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 2swW4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 7.0 1
# 17 » J94 6HW-1 50 Mean: 6HW-1 50 11.0 1 [|# 18 # 952 3NS3 600 Mean: 3NS6 690 3.0 1
v6 6HE6 -980 -470  4HE4 420 20 1 v A43 3NS3 600 590 3NS5 660 2.0 8
* AK2 Dif: 1030 NS:11 4HW5 450 1.0 12 ¢ T9 Dif: 0 NS:0 3NS4 630 1.0 3
& QT8643 IMP: 14 EW:11 4HE5 450 1.0 4 & AKQ87 IMP: 0 EW:0 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||e Q52 I v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 L X2 N & KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QIT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
W ~~5-~2 W~~~
# 19 & AK954 6HE-2 200 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 3DXS-2 -500 Mean: 2HE-1 100 60 1
v KT5 4HE-1100 -290 5HE-1 100 9.0 1 v KJT 2HW2 -110 -140 2DS2 90 60 1
92 Dif: 100 NS:10 4HE-1 100 9.0 5 + QJ82 Dif: -390 NsS:-8 1NE1 -90 20 1
» 532 IMP: 3 EW:-9 3DS-1 50 6.0 1 & QT IMP: -9 EW:-1 2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ 98 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢ KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2  -500 -8.0 1




X AN >\ ¢ —_—
9 MEEZ2RABERFLB 2 ==> RY 9
1 +
AYA
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
7 NS: #BHHE =HAZEGHO) 12 1 7 NS: EEtt 4 BiE5(BAC) 1 VP:| 11.85 : 8.15 | Total VP: 102.60 Rank:
EW: BEE% I FIEIC) -1 EW: 255 BEE(BRO) -1 IMP:| 14 9 3
— I
# 11 s QJT42 5CXW-1100 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 4SXE-3 500 Mean: 5HN5 650 4.0 1
v Q975 5CW-150 -160 5CW-1 50 50 3 v KQ92 4SXE-3 500 500  4HS5 650 4.0 1
¢ J53 Dif: 50 NS:6 3HS-1 -50 30 1 ¢ T982 Dif: 0 NS:0 5DN5 600 3.0 2
%6 IMP: 2 EW:-5 4SN-2 4100 20 1 & AQJ4 IMP: 0 EW:0 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 |]|e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 P eVABN L, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3NS3 600 Mean: 3NS5 660 30 6 ||# 14 a4 2SS-1-50 Mean: 3NS3 400 9.0 1
v J2 3NS5 660 540  3NS4 630 30 7 v AT3 2NN-1-50 -10  2NS2 120 40 1
¢ AKT8752 Dif: -60 NS:2 3NN5 660 3.0 2 ¢ AT763 Dif: 0 NS:-1 2NN2 120 40 1
& AT7 IMP: -2 EW:-3 3NS3 600 20 1 & K753 IMP: 0 EW:1 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 -3.0 1
S 24 ~~4 ¢+Q4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 18S-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 2HS-2 -200 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 3CE3 -110 Mean: 3CE-2 200 50 1
v 92 2SE3 -140 -130  2NE-1 50 50 1 v A642 3DS-1-50 10  2SW-2 200 50 1
+ Q95 Dif: -60 NS:-2 2DE-1 50 50 1 ¢ 63 Dif: -60 NS:-3 3NE-1 100 30 1
& AT532 IMP: -2 EW:0 2SW2 410 1.0 2 » 874 IMP: -2 EW:2 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 25W4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 -70 1
# 17 » J94 4HE5 -450 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 3NS3 600 Mean: 3NS6 690 3.0 1
v6 4HWS5 -450 -470  4HE4 420 20 1 v A43 3NS5660 590 3NS5 660 2.0 8
* AK2 Dif: 0 NS:1 4HW5 450 1.0 12 ¢ T9 Dif: -60 NS:0 3NS4 630 1.0 3
& QT8643 IMP: 0 EW:-1 4HE5 450 1.0 4 & AKQ87 IMP: -2 EW:-2 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 %o VAN 4, KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QJT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
wv ~~5~2 W~~~ ~~
# 19 & AK954 5HE-1 100 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 2HW3 -140 Mean: 2HE-1 100 60 1
v KT5 4HE4 -620 -290  5HE-1 100 9.0 1 v KJT 25S-1-100 -140 2DS2 90 60 1
92 Dif: 720 NS:9 4HE-1 100 9.0 5 + QJ82 Dif: -40 NS:0 1NE1 -90 20 1
& 532 IMP: 12 EW:8 3DS-1 50 6.0 1 & QT IMP: -1 EW:-1  2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ 98 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢ KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2 500 -8.0 1




X AN >\ ¢ —_—
9 1NEFF2ABEEEFR 2 == RI 9
AYA . o
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
8 NS: Fiisf KRB EEC) -11 3 NS: Z=5E28 ST F1(BO) -16 VP:| 11.50 : 8.50 Total VP: 95.56 Rank:
EW: 218 #5EB(5H0) 16 EW: Eifs# SR (EAC) 11 IMP:| 13 9 10
— o
# 11 s QJT42 3NE3 400 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 4SXE-3 -500 Mean: 5HN5 650 4.0 1
v Q975 5HXS-4 800 -160  5CW-1 50 50 3 v KQ92 5DN5 -600 500  4HS5 650 4.0 1
¢ J53 Dif: -400 NS:-12 3HS-1 -50 30 1 ¢ T982 Dif: 100 NS:3 5DN5 600 3.0 2
%6 IMP: -9 EW:6 4SN-2 4100 20 1 & AQJ4 IMP: 3 EW:0 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 |]|e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 #¢VAN 4, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545 ~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3NS4 -630 Mean: 3NS5 660 30 6 ||# 14 a4 3CN-2 100 Mean: 3NS3 400 9.0 1
v J2 3NN5 -660 540  3NS4 630 30 7 v AT3 3NN-2 100 -10  2NS2 120 40 1
¢ AKT8752 Dif: 30 NS:3  3NN5 660 3.0 2 ¢ AT763 Dif: 0 NS:-3 2NN2 120 40 1
& AT7 IMP: 1 EW:-3 3NS3 600 20 1 & K753 IMP: 0 EW:3 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 -3.0 1
S 24 ~~4 ¢+Q4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 1Ss-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 2SW3 140 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 2CE4 130 Mean: 3CE-2 200 50 1
v 92 1NE2 120 -130  2NE-1 50 50 1 v A642 2CE-1-100 10  2SW-2 200 50 1
+ Q95 Dif: 20 NS:0 2DE-1 50 50 1 ¢ 63 Dif: 230 NS:3  3NE-1 100 30 1
& AT532 IMP: 1 EW:0 2SW2 410 1.0 2 » 874 IMP: 6 EW:4 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 2swW4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 7.0 1
# 17 » J94 4HWS5 450 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 3NS3 -600 Mean: 3NS6 690 3.0 1
v6 4HWS5 450 -470  4HE4 420 20 1 v A43 3NN4 -630 590 3NS5 660 2.0 8
* AK2 Dif: 0 NS:1 4HW5 450 1.0 12 ¢ T9 Dif: 30 NS:1  3NS4 630 1.0 3
& QT8643 IMP: 0 EW:-1 4HE5 450 1.0 4 & AKQ87 IMP:1 EW:0 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 L X2 N o KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QIT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
W ~~5-~2 W~~~
# 19 & AK954 4HE4 620 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 1NE2 120 Mean: 2HE-1 100 60 1
v KT5 4HE4 620 -290 5HE-1 100 9.0 1 v KJT 2DN-1 100 -140 2DS2 90 60 1
92 Dif: 0 NS:-8 4HE-1 100 9.0 5 + QJ82 Dif: 20 NS:1 1NE1 -90 20 1
» 532 IMP: 0 EW:8 3DS-1 50 6.0 1 & QT IMP: 1 EW:-1 2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ ¢8 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2  -500 -8.0 1




X AN >\ ¢ —_—
9 1NEFF2ABEEEFR 2 == RI 9
AYA . o
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
9 NS: f3{FEHE #HFEEGHO) 23 20 NS: #lEF 58/ (BAC) -8 VP:| 17.68 : 2.32 Total VP: 124.74 Rank:
EW: ZEREJE BPE/KEAC) 8 EW: [R<FR BRIEFR(BAO) -2 IMP:| 29 0 1
—
# 11 s QJT42 4HXS-1-100 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 5DN5 600 Mean: 5HN5 650 4.0 1
v Q975 4NE4 -430 -160  5CW-1 50 50 3 v KQ92 4SXE-3 500 500  4HS5 650 4.0 1
¢ J53 Dif: 330 NS:2 3HS-1 -50 30 1 ¢ T982 Dif: 100 NS:3 5DN5 600 3.0 2
%6 IMP: 8 EW:7 4SN-2 4100 20 1 & AQJ4 IMP: 3 EW:0 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 |]|e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 #¢VAN 4, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545 ~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3NN5 660 Mean: 3NS5 660 30 6 ||# 14 a4 2NN-1 -50 Mean: 3NS3 400 9.0 1
v J2 3NS4 630 540  3NS4 630 30 7 v AT3 3NN-2 -100 -10  2NS2 120 40 1
¢ AKT8752 Dif: 30 NS:3  3NN5 660 3.0 2 ¢ AT763 Dif: 50 NS:-1  2NN2 120 40 1
& AT7 IMP: 1 EW:-3 3NS3 600 20 1 & K753 IMP: 2 EW:3 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 -3.0 1
S 24 ~~4 ¢+Q4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 1Ss-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 4SE-1 50 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 3CE-2200 Mean: 3CE-2 200 50 1
v 92 2NE-150 -130 2NE-1 50 50 1 v A642 2DS290 10  2SW-2 200 50 1
+ Q95 Dif: 0 NS:5 2DE-1 50 50 1 ¢ 63 Dif: 110 NS:5 3NE-1 100 30 1
& AT532 IMP: 0 EW:-5 2SW2 410 1.0 2 » 874 IMP: 3 EW:-2 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 2swW4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 7.0 1
# 17 » J94 4HWS5 -450 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 3NS5 660 Mean: 3NS6 690 3.0 1
v6 4HE5 -450 -470  4HE4 420 20 1 v A43 3NS4 630 590 3NS5 660 2.0 8
* AK2 Dif: 0 NS:1 4HW5 450 1.0 12 ¢ T9 Dif: 30 NS:2 3NS4 630 1.0 3
& QT8643 IMP: 0 EW:-1 4HE5 450 1.0 4 & AKQ87 IMP: 1 EW:-1 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 L X2 N o KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QIT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
W ~~5-~2 W~~~
# 19 & AK954 3DXS-1-100 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 2DS-2 -200 Mean: 2HE-1 100 60 1
v KT5 4HE4 -620 -290  5HE-1 100 9.0 1 v KJT 1NS-2-200 -140 2DS2 90 60 1
92 Dif: 520 NS:5 4HE-1 100 9.0 5 + QJ82 Dif: 0 NS:-2 1NE1 -90 20 1
& 532 IMP: 11 EW:8 3DS-1 50 6.0 1 & QT IMP: 0 EW:2 2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ ¢8 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2  -500 -8.0 1




X AN >\ ¢ —_—
9 MEEZ2RABERFLB 2 ==> RY 9
1 +
AYA
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
1 O NS: BREH BRFEF(GHO) -40 12 NS: B2 SIRMM(BAC) 24 VP:| 0.00 20.00 | Total VP: 13.85 Rank:
EW: BESn35 BETf(EAC) -24 EW: 2ZH R#ER(FO) 40 IMP:| 4 61 21
—
# 11 s QJT42 3NE4 -430 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 3SE-2 100 Mean: 5HN5 650 4.0 1
v Q975 3HS-1-50 -160 5CW-1 50 50 3 v KQ92 4SXE-3 500 500  4HS5 650 4.0 1
¢ J53 Dif: -380 NS:-7 3HS-1 -50 30 1 ¢ T982 Dif: -400 NS:-9 5DN5 600 3.0 2
%6 IMP: -9 EW:-3 4SN-2 4100 20 1 & AQJ4 IMP: -9 EW:0 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 ||e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 P eVABN L, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3DN4 130 Mean: 3NS5 660 30 6 ||# 14 a4 3NN-2 -100 Mean: 3NS3 400 9.0 1
v J2 3NS5660 540  3NS4 630 30 7 v AT3 2NS2120 -10  2NS2 120 40 1
¢ AKT8752 Dif: -530 NS:-9 3NN5 660 3.0 2 ¢ AT763 Dif: -220 NS:-3 2NN2 120 40 1
& AT7 IMP: -11 EW:-3 3NS3 600 20 1 & K753 IMP: -6 EW:-4 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 -3.0 1
S 24 ~~4 ¢+Q4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 18S-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 3CN-3 -300 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 2CE4 -130 Mean: 3CE-2 200 50 1
v 92 2SW2 -110 -130  2NE-1 50 50 1 v A642 3DS3110 10  2SW-2 200 50 1
+ Q95 Dif: -190 NS:-5 2DE-1 50 50 1 ¢ 63 Dif: -240 NS:-4 3NE-1 100 30 1
& AT532 IMP: -5 EW:-1 2SW2 410 1.0 2 » 874 IMP: -6 EW:-3 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 25W4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 -70 1
# 17 » J94 6HW6 -980 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 3NS3 600 Mean: 3NS6 690 3.0 1
v6 4HWS5 -450 -470  4HE4 420 20 1 v A43 3NS5660 590 3NS5 660 2.0 8
* AK2 Dif: -530 NS:-11 4HW5 450 1.0 12 ¢ T9 Dif: -60 NS:0 3NS4 630 1.0 3
& QT8643 IMP: -11 EW:-1 4HE5 450 1.0 4 & AKQ87 IMP: -2 EW:-2 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 %o VAN 4, KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QIT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
W ~~5-~2 W~~~
# 19 & AK954 4HE-1 100 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 2HW4 -170 Mean: 2HE-1 100 60 1
v KT5 3DS-1-50 -290 5HE-1 100 9.0 1 v KJT 2HW2 -110 -140 2DS2 90 60 1
92 Dif: 150 NS:9 4HE-1 100 9.0 5 + QJ82 Dif: -60 NS:-1 1NE1 -90 20 1
» 532 IMP: 4 EW:-6 3DS-1 50 6.0 1 & QT IMP: -2 EW:-1 2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ ¢8 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2 500 -8.0 1




X AN >\ ¢ —_—
9 MEEZ2RABERFLB 2 ==> RY 9
AYA . o
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
1 1 NS: 58 BRiSEC) -12 6 NS: Einttl 27 (F0) 20 VP:| 3.22 16.78 | Total VP: 74.38 Rank:
EW: $E5558 BREZX(BHO) -20 EW: BR5 32 BRIZ2E(BAC) 12 IMP:| 20 44 19
— o
# 11 s QJT42 5CW-1-50 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 4SXE-3 -500 Mean: 5HN5 650 4.0 1
v Q975 5CXW5 550 -160 5CW-1 50 50 3 v KQ92 4SXE-3 -500 500  4HS5 650 4.0 1
¢ J53 Dif: -600 NS:-9 3HS-1 -50 30 1 ¢ T982 Dif: 0 NS:0 5DN5 600 3.0 2
%6 IMP: -12 EW:-5 4SN-2 4100 20 1 & AQJ4 IMP: 0 EW:0 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 ||e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 P eVABN L, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545 ~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3DN4 -130 Mean: 3NS5 660 30 6 ||# 14 a4 1NN1 -90 Mean: 3NS3 400 9.0 1
v J2 3NS5 -660 540  3NS4 630 30 7 v AT3 2NN-150 -10  2NS2 120 40 1
¢ AKT8752 Dif: 530 NS:3  3NN5 660 3.0 2 ¢ AT763 Dif: -140 NS:-1  2NN2 120 40 1
& AT7 IMP: 11 EW:9 3NS3 600 20 1 & K753 IMP: -4 EW:-3 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 30 1
S 24~~4 oQ4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 18S-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 2DE-1 -50 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 2DS3 -110 Mean: 3CE-2 200 50 1
v 92 2SW3 140 -130  2NE-1 50 50 1 v A642 2CE4130 10  2SW-2 200 50 1
+ Q95 Dif: -190 NS:0 2DE-1 50 50 1 ¢ 63 Dif: -240 NS:-4 3NE-1 100 30 1
& AT532 IMP: -5 EW:-5 2SW2 410 1.0 2 » 874 IMP: -6 EW:-3 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 25W4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 -70 1
# 17 » J94 6HW-1-50 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 3NS3 -600 Mean: 3NS6 690 3.0 1
v6 6HE6 980 -470  4HE4 420 20 1 v A43 3NS3-600 590 3NS5 660 2.0 8
* AK2 Dif: -1030 NS:-11 4HWS5 450 1.0 12 ¢ T9 Dif: 0 NS:0 3NS4 630 1.0 3
& QT8643 IMP: -14 EW:-11 4HE5 450 1.0 4 & AKQ87 IMP: 0 EW:0 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 % ¢ VAN 4, KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QIT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
W ~~5-~2 W~~~
# 19 & AK954 6HE-2 -200 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 3DXS-2 500 Mean: 2HE-1 100 60 1
v KT5 4HE-1-100 -290 5HE-1 100 9.0 1 v KJT 2HW2 110 -140 2DS2 90 60 1
92 Dif: -100 NS:9 4HE-1 100 9.0 5 + QJ82 Dif: 390 NS:1 1NE1 -90 20 1
» 532 IMP: -3 EW:-10 3DS-1 50 6.0 1 & QT IMP: 9 EW:8 2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ 98 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢ KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2 500 -8.0 1




X AN >\ ¢ —_—
9 1NEFF2ABEEEFR 2 == RI 9
AYA . o
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
1 2 NS: R T HRINERC) 24 10 NS: BRE1H BR#E5E(BRO) -4 VP:| 20.00 : 0.00 Total VP: 88.68 Rank:
EW: &% 5 BEAEEHO) 40 EW: [R53 5 EE T @ (BAC) -2 IMP:| 61 4 14
—
# 11 s QJT42 3NE4 430 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 3SE-2 -100 Mean: 5HN5 650 4.0 1
v Q975 3HS-150 -160 5CW-1 50 50 3 v KQ92 4SXE-3 -500 500  4HS5 650 4.0 1
¢ J53 Dif: 380 NS:3 3HS-1 -50 30 1 ¢ T982 Dif: 400 NS:0 5DN5 600 3.0 2
%6 IMP: 9 EW:7 4SN-2 4100 20 1 & AQJ4 IMP: 9 EW:9 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 |]|e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 #¢VAN 4, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3DN4 -130 Mean: 3NS5 660 30 6 ||# 14 a4 3NN-2 100 Mean: 3NS3 400 9.0 1
v J2 3NS5 -660 540  3NS4 630 30 7 v AT3 2NS2 -120 -10  2NS2 120 40 1
¢ AKT8752 Dif: 530 NS:3  3NN5 660 3.0 2 ¢ AT763 Dif: 220 NS:4 2NN2 120 40 1
& AT7 IMP: 11 EW:9 3NS3 600 20 1 & K753 IMP: 6 EW:3 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 -3.0 1
S 24 ~~4 ¢+Q4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 1Ss-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 3CN-3 300 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 2CE4 130 Mean: 3CE-2 200 50 1
v 92 2SW2 110 -130  2NE-1 50 50 1 v A642 3DS3-110 10  2SW-2 200 50 1
+ Q95 Dif: 190 NS:1  2DE-1 50 50 1 ¢ 63 Dif: 240 NS:3  3NE-1 100 30 1
& AT532 IMP: 5 EW:5 2SW2 410 1.0 2 » 874 IMP: 6 EW:4 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 2swW4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 7.0 1
# 17 » J94 6HW6 980 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 3NS3 -600 Mean: 3NS6 690 3.0 1
v6 4HWS5 450 -470  4HE4 420 20 1 v A43 3NS5 -660 590 3NS5 660 2.0 8
* AK2 Dif: 530 NS:1  4HW5 450 1.0 12 ¢ T9 Dif: 60 NS:2 3NS4 630 1.0 3
& QT8643 IMP: 11 EW:11 4HE5 450 1.0 4 & AKQ87 IMP: 2 EW:0 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||e Q52 I v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 L X2 N & KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QIT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
W ~~5-~2 W~~~
# 19 & AK954 4HE-1 -100 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 2HW4 170 Mean: 2HE-1 100 60 1
v KT5 3DS-150 -290 5HE-1 100 9.0 1 v KJT 2HW2 110 -140 2DS2 90 60 1
92 Dif: -150 NS:6 4HE-1 100 9.0 5 + QJ82 Dif: 60 NS:1 1NE1 -90 20 1
» 532 IMP: -4 EW:-9 3DS-1 50 6.0 1 & QT IMP: 2 EW:1 2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ 98 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢ KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2  -500 -8.0 1




X AN >\ ¢ —_—
9 1NEFF2ABEEEFR 2 == RI 9
AYA . o
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
1 3 NS: S R AREGH0) 21 19 NS: #IRZE FER(BAC) -15 VP:| 18.00 : 2.00 Total VP: 112.86 Rank:
EW: BREEE) BiFEEIC) 15 EW: fIsREN #mEE(BAO) -2 IMP:| 36 5 2
—
# 11 s QJT42 5CXW-1100 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 5HN5 650 Mean: 5HN5 650 4.0 1
v Q975 4SN-2 -100 -160  5CW-1 50 50 3 v KQ92 4SXE-3 500 500  4HS5 650 4.0 1
¢ J53 Dif: 200 NS:6 3HS-1 -50 30 1 ¢ T982 Dif: 150 NS:4 5DN5 600 3.0 2
%6 IMP: 5 EW:-2 4SN-2 4100 20 1 & AQJ4 IMP: 4 EW:0 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 |]|e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 #¢VAN 4, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545 ~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3NS4 630 Mean: 3NS5 660 30 6 ||# 14 a4 2NN-1 -50 Mean: 3NS3 400 9.0 1
v J2 2DN4 130 540  3NS4 630 30 7 v AT3 2NN-1-50 -10  2NS2 120 40 1
¢ AKT8752 Dif: 500 NS:3 3NN5 660 3.0 2 ¢ AT763 Dif: 0 NS:-1 2NN2 120 40 1
& AT7 IMP: 11 EW:9 3NS3 600 20 1 & K753 IMP: 0 EW:1 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 -3.0 1
S 24 ~~4 ¢+Q4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 1Ss-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 2SW4 -170 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 2DS2 90 Mean: 3CE-2 200 50 1
v 92 2SE3 -140 -130  2NE-1 50 50 1 v A642 3DS-1-50 10  2SW-2 200 50 1
+ Q95 Dif: -30 NS:-1 2DE-1 50 50 1 ¢ 63 Dif: 140 NS:2 3NE-1 100 30 1
& AT532 IMP: -1 EW:0 2SW2 410 1.0 2 » 874 IMP: 4 EW:2 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 2swW4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 7.0 1
# 17 » J94 4HE5 -450 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 3NS3 600 Mean: 3NS6 690 3.0 1
v6 4HE5 -450 -470  4HE4 420 20 1 v A43 3NS4 630 590 3NS5 660 2.0 8
* AK2 Dif: 0 NS:1 4HW5 450 1.0 12 ¢ T9 Dif: -30 NS:0 3NS4 630 1.0 3
& QT8643 IMP: 0 EW:-1 4HE5 450 1.0 4 & AKQ87 IMP: -1 EW:-1 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 %o VAN 4, KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QIT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
W ~~5-~2 W~~~
# 19 & AK954 4HE-1 100 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 3DXN-1-200 Mean: 2HE-1 100 60 1
v KT5 4HE4 -620 -290  5HE-1 100 9.0 1 v KJT 2HW2 -110 -140 2DS2 90 60 1
92 Dif: 720 NS:9 4HE-1 100 9.0 5 + QJ82 Dif: -90 NS:-2 1NE1 -90 20 1
& 532 IMP: 12 EW:8 3DS-1 50 6.0 1 & QT IMP: -3 EW:-1 2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ ¢8 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2  -500 -8.0 1




X AN >\ ¢ —_—
9 MEEZ2RABERFLB 2 ==> RY 9
1 +
AYA
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
1 4 NS: BRiEE FEFEGHO) -7 16 NS: E30& HER(BAC) 7 VP:| 6.28 13.72| Total VP: 86.81 Rank:
EW: HtHRi £5522EAC) -7 EW: [REI SBE3R(BAO) 7 IMP:| 10 21 15
— I
# 11 s QJT42 5CW-150 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 4SXE-3 500 Mean: 5HN5 650 4.0 1
v Q975 5CXW-1100 -160 5CW-1 50 50 3 v KQ92 4SXE-3 500 500  4HS5 650 4.0 1
¢ J53 Dif: -50 NS:5 3HS-1 -50 30 1 ¢ T982 Dif: 0 NS:0 5DN5 600 3.0 2
%6 IMP: -2 EW:-6 4SN-2 4100 20 1 & AQJ4 IMP: 0 EW:0 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 ||e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 P eVABN L, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3NS4 630 Mean: 3NS5 660 30 6 ||# 14 a4 1NN1 90 Mean: 3NS3 400 9.0 1
v J2 3NS4 630 540 3NS4 630 30 7 v AT3 2NN-1-50 -10  2NS2 120 40 1
¢ AKT8752 Dif: 0 NS:3 3NN5 660 3.0 2 ¢ AT763 Dif: 140 NS:3  2NN2 120 40 1
& AT7 IMP: 0 EW:-3 3NS3 600 20 1 & K753 IMP: 4 EW:1 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 -3.0 1
S 24 ~~4 ¢+Q4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 18S-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 3SW3 -140 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 3CE4 -130 Mean: 3CE-2 200 50 1
v 92 2SE4 -170 130  2NE-1 50 50 1 v A642 3NE-1100 10  2SW-2 200 50 1
+ Q95 Dif: 30 NS:0 2DE-1 50 50 1 ¢ 63 Dif: -230 NS:-4 3NE-1 100 30 1
& AT532 IMP: 1 EW:1 2SW2 410 1.0 2 » 874 IMP: -6 EW:-3 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 25W4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 -70 1
# 17 » J94 4HWS5 -450 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 6NS-2 -200 Mean: 3NS6 690 3.0 1
v6 4HWS5 -450 -470  4HE4 420 20 1 v A43 3NS6 690 590 3NS5 660 2.0 8
* AK2 Dif: 0 NS:1 4HW5 450 1.0 12 ¢ T9 Dif: -890 NS:-13 3NS4 630 1.0 3
& QT8643 IMP: 0 EW:-1 4HE5 450 1.0 4 & AKQ87 IMP: -13 EW:-3 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 L X2 N o KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QIT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
W ~~5-~2 W~~~
# 19 & AK954 4HE4 -620 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 2DS2 90 Mean: 2HE-1 100 60 1
v KT5 4HE4 -620 -290  5HE-1 100 9.0 1 v KJT 2HW2 -110 -140 2DS2 90 60 1
92 Dif: 0 NS:-8 4HE-1 100 9.0 5 + QJ82 Dif: 200 NS:6 1NE1 -90 20 1
» 532 IMP: 0 EW:8 3DS-1 50 6.0 1 & QT IMP: 5 EW:-1 2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ ¢8 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2 500 -8.0 1




¥ ——
9 111 FF >RF{HEHEF IR L ==> RY 9
AYA
#1: 9 BE2(124.74) #2: 13 ﬂ%ﬁi(llz 86) #3: 7 Cyclops(lOZ 6)
1 5 NS: (B80) 0 22 NS: (FC) 0 VP:| 12.00 : 0.00 | Total VP: 75.81 Rank:
EW: (FHC) 0 EW: (B10)0 IMP:| 0 0 18
—
# 11 » QJT42 A Mean: 5CXW-1 100 6.0 5 |[# 12 a3 A Mean: 5HN5 650 4.0 1
v Q975 A 160  5CW-1 50 50 3 v KQ92 A 500 4HS5 650 4.0 1
¢ J53 Dif: 0 NS:0 3HS-1 -50 30 1 ¢ T982 Dif: 0 NS:0 5DN5 600 3.0 2
%6 IMP: 0 EW:0 4SN-2 4100 20 1 & AQJ4 IMP: 0 EW:0 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 |]|e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 #¢VAN 4, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 a K A Mean: 3NS5 660 30 6 ||# 14 a4 A Mean: 3NS3 400 9.0 1
v J2 A 540  3NS4 630 30 7 v AT3 A 10  2NS2 120 40 1
¢ AKT8752 Dif: 0 NS:0 3NN5 660 3.0 2 ¢ AT763 Dif: 0 NS:0 2NN2 120 40 1
& AT7 IMP: 0 EW:0 3NS3 600 20 1 & K753 IMP: 0 EW:0 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 -3.0 1
S 24 ~~4 ¢+Q4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ £6542 E ~~~~~ & AJ4 1Ss-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 A Mean: 4SE-1 50 50 1 |[|# 16 4 K975 A Mean: 3CE-2 200 50 1
v 92 A 130  2NE- 50 50 1 v AB42 A 10  2SW-2 200 50 1
+ Q95 Dif: 0 NS:0 2DE-1 50 50 1 ¢ 63 Dif: 0 NS:0 3NE-1 100 30 1
& AT532 IMP: 0 EW:0 2SW2 410 1.0 2 » 874 IMP: 0 EW:0 3DS3 110 3.0 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 * AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 2.0 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1~~~~ 4762 2swW4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 7.0 1
# 17 » J94 A Mean: 6HW-1 50 11.0 1 [|# 18 # 952 A Mean: 3NS6 690 3.0 1
vb6 A -470  4HE4 420 20 1 v A43 A 590 3NS5 660 2.0 8
* AK2 Dif: 0 NS:0 4HW5 450 1.0 12 ¢ T9 Dif: 0 NS:0 3NS4 630 1.0 3
& QT8643 IMP: 0 EW:0 4HE5 450 1.0 4 & AKQ87 IMP: 0 EW:0 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 * QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 L X2 N o KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QJT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
wv ~~5~2 W~~~ ~~
# 19 & AK954 A Mean: 6HE-2 200 100 1 ||# 20 o AT64 A Mean: 2HE-1 100 60 1
v KT5 A -290 5HE- 100 9.0 1 v KJT A 140 2DS2 90 60 1
92 Dif: 0 NS:0 4HE-1 100 9.0 5 + QJ82 Dif: 0 NS:0 1NE1 -90 20 1
» 532 IMP: 0 EW:0 3DS-1 50 6.0 1 & QT IMP: 0 EW:0 2SS-1 4100 1.0 1
JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ 98 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢ KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2  -500 -8.0 1




X AN >\ ¢ —_—
9 MEEZ2RABERFLB 2 ==> RY 9
1 +
AYA
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
1 6 NS: @30E HREEEHC) 7 14 NS: R % E#&1EBEO) -7 VP:| 13.72 : 6.28 Total VP: 94.97 Rank:
EW: BEEISZ SRBEREI0) 7 EW: i#tiRiE FH5E(BAC) -7 IMP:| 21 10 1
— o
# 11 s QJT42 5CW-1-50 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 4SXE-3 -500 Mean: 5HN5 650 4.0 1
v Q975 5CXW-1-100 -160 5CW-1 50 50 3 v KQ92 4SXE-3 -500 500  4HS5 650 4.0 1
¢ J53 Dif: 50 NS:6 3HS-1 -50 30 1 ¢ T982 Dif: 0 NS:0 5DN5 600 3.0 2
%6 IMP: 2 EW:-5 4SN-2 4100 20 1 & AQJ4 IMP: 0 EW:0 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 ||e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 P eVABN L, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3NS4 -630 Mean: 3NS5 660 30 6 ||# 14 a4 1NN1 -90 Mean: 3NS3 400 9.0 1
v J2 3NS4 -630 540 3NS4 630 30 7 v AT3 2NN-150 -10  2NS2 120 40 1
¢ AKT8752 Dif: 0 NS:3 3NN5 660 3.0 2 ¢ AT763 Dif: -140 NS:-1  2NN2 120 40 1
& AT7 IMP: 0 EW:-3 3NS3 600 20 1 & K753 IMP: -4 EW:-3 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 -3.0 1
S 24 ~~4 ¢+Q4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 18S-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 3SW3 140 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 3CE4 130 Mean: 3CE-2 200 50 1
v 92 2SE4 170 -130  2NE-1 50 50 1 v A642 3NE-1-100 10  2SW-2 200 50 1
+ Q95 Dif: -30 NS:-1 2DE-1 50 50 1 ¢ 63 Dif: 230 NS:3  3NE-1 100 30 1
& AT532 IMP: -1 EW:0 2SW2 410 1.0 2 » 874 IMP: 6 EW:4 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 25W4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 -70 1
# 17 » J94 4HWS5 450 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 6NS-2 200 Mean: 3NS6 690 3.0 1
v6 4HWS5 450 -470  4HE4 420 20 1 v A43 3NS6 -690 590 3NS5 660 2.0 8
* AK2 Dif: 0 NS:1 4HW5 450 1.0 12 ¢ T9 Dif: 890 NS:3 3NS4 630 1.0 3
& QT8643 IMP: 0 EW:-1 4HE5 450 1.0 4 & AKQ87 IMP: 13 EW:13 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 L X2 N o KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QIT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
W ~~5-~2 W~~~
# 19 & AK954 4HE4 620 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 2DS2 -90 Mean: 2HE-1 100 60 1
v KT5 4HE4 620 -290 5HE-1 100 9.0 1 v KJT 2HW2 110 -140 2DS2 90 60 1
92 Dif: 0 NS:-8 4HE-1 100 9.0 5 + QJ82 Dif: -200 NS:1  1NE1 -90 20 1
» 532 IMP: 0 EW:8 3DS-1 50 6.0 1 & QT IMP: -5 EW:-6 2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ ¢8 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2 500 -8.0 1




X AN >\ ¢ —_—
9 MEEZ2RABERFLB 2 ==> RY 9
1 +
AYA
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
1 7 NS: BEt4r BB EC) 1 7 NS: H5H#E SHE(F0) 12 VP:| 8.15 11.85| Total VP: 102.01 Rank:
EW: B SEEREE0) -12 EW: [REZLR $BH(EAC) 1 IMP:| 9 14 6
— o
# 11 s QJT42 5CXW-1-100 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 4SXE-3 -500 Mean: 5HN5 650 4.0 1
v Q975 5CW-1-50 -160 5CW-1 50 50 3 v KQ92 4SXE-3 -500 500  4HS5 650 4.0 1
¢ J53 Dif: -50 NS:5 3HS-1 -50 30 1 ¢ T982 Dif: 0 NS:0 5DN5 600 3.0 2
%6 IMP: -2 EW:-6 4SN-2 4100 20 1 & AQJ4 IMP: 0 EW:0 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 ||e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 P eVABN L, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3NS3 -600 Mean: 3NS5 660 30 6 ||# 14 a4 25S-150 Mean: 3NS3 400 9.0 1
v J2 3NS5 -660 540  3NS4 630 30 7 v AT3 2NN-150 -10  2NS2 120 40 1
¢ AKT8752 Dif: 60 NS:3 3NN5 660 3.0 2 ¢ AT763 Dif: 0 NS:-1 2NN2 120 40 1
& AT7 IMP: 2 EW:-2 3NS3 600 20 1 & K753 IMP: 0 EW:1 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 -3.0 1
S 24 ~~4 ¢+Q4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 18S-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 2HS-2 200 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 3CE3 110 Mean: 3CE-2 200 50 1
v 92 2SE3 140 -130  2NE-1 50 50 1 v A642 3DS-150 10  2SW-2 200 50 1
+ Q95 Dif: 60 NS:0 2DE-1 50 50 1 ¢ 63 Dif: 60 NS:-2 3NE-1 100 30 1
& AT532 IMP: 2 EW:2 2SW2 410 1.0 2 » 874 IMP: 2 EW:3 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 25W4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 -70 1
# 17 » J94 4HE5 450 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 3NS3 -600 Mean: 3NS6 690 3.0 1
v6 4HWS5 450 -470  4HE4 420 20 1 v A43 3NS5 -660 590 3NS5 660 2.0 8
* AK2 Dif: 0 NS:1 4HW5 450 1.0 12 ¢ T9 Dif: 60 NS:2 3NS4 630 1.0 3
& QT8643 IMP: 0 EW:-1 4HE5 450 1.0 4 & AKQ87 IMP: 2 EW:0 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 %o VAN 4, KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QJT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
wv ~~5~2 W~~~ ~~
# 19 & AK954 5HE-1-100 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 2HW3 140 Mean: 2HE-1 100 60 1
v KT5 4HE4 620 -290 5HE-1 100 9.0 1 v KJT 2SS-1100 -140 2DS2 90 60 1
92 Dif: -720 NS:-8 4HE-1 100 9.0 5 + QJ82 Dif: 40 NS:1 1NE1 -90 20 1
& 532 IMP: -12 EW:-9 3DS-1 50 6.0 1 & QT IMP: 1 EW:0 2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ 98 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢ KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2 500 -8.0 1




X AN >\ ¢ —_—
9 1NEFF2ABEEEFR 2 == RI 9
AYA . o
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
1 8 NS: #48 E BRHEEEAC) 16 4 NS: BR¥FZ JaHI(B0o) -2 VP:| 18.71 1.29 Total VP: 97.04 Rank:
EW: & E2B1EEH0) 20 EW: EiiE & BRE#(FAC) -16 IMP:| 43 7 8
—
# 11 s QJT42 3NE3 400 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 3NS3 -600 Mean: 5HN5 650 4.0 1
v Q975 5CXW-1-100 -160 5CW-1 50 50 3 v KQ92 4SXE-2 -300 500  4HS5 650 4.0 1
¢ J53 Dif: 500 NS:6 3HS-1 -50 30 1 ¢ T982 Dif: -300 NS:-5 5DN5 600 3.0 2
%6 IMP: 11 EW:6 4SN-2 4100 20 1 & AQJ4 IMP: -7 EW:-3 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 |]|e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 #¢VAN 4, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3NS4 -630 Mean: 3NS5 660 30 6 ||# 14 a4 1SS-3 150 Mean: 3NS3 400 9.0 1
v J2 3NS5 -660 540  3NS4 630 30 7 v AT3 3NS3 -400 -10  2NS2 120 40 1
¢ AKT8752 Dif: 30 NS:3  3NN5 660 3.0 2 ¢ AT763 Dif: 550 NS:9 2NN2 120 40 1
& AT7 IMP: 1 EW:-3 3NS3 600 20 1 & K753 IMP: 11 EW:4 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 30 1
S 24~~4 oQ4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 1Ss-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 2SE3 140 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 2HE2 110 Mean: 3CE-2 200 50 1
v 92 2SW3 140 -130  2NE-1 50 50 1 v A642 2DS2-90 10  2SW-2 200 50 1
+ Q95 Dif: 0 NS:0 2DE-1 50 50 1 ¢ 63 Dif: 200 NS:2 3NE-1 100 30 1
& AT532 IMP: 0 EW:0 2SW2 410 1.0 2 » 874 IMP: 5 EW:3 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 2swW4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 7.0 1
# 17 » J94 4HWS5 450 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 3NS5 -660 Mean: 3NS6 690 3.0 1
v6 4HWS5 450 -470  4HE4 420 20 1 v A43 3NS5-660 590 3NS5 660 2.0 8
* AK2 Dif: 0 NS:1 4HW5 450 1.0 12 ¢ T9 Dif: 0 NS:2 3Ns4 630 1.0 3
& QT8643 IMP: 0 EW:-1 4HE5 450 1.0 4 & AKQ87 IMP: 0 EW:-2 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 L X2 N & KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QIT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
W ~~5-~2 W~~~
# 19 & AK954 4HE4 620 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 3DXN-2 500 Mean: 2HE-1 100 60 1
v KT5 3DXS-2300 -290 5HE-1 100 9.0 1 v KJT 3DN-2200 -140 2DS2 90 60 1
92 Dif: 320 NS:0 4HE-1 100 9.0 5 + QJ82 Dif: 300 NS:-2 1NE1 -90 20 1
» 532 IMP: 8 EW:8 3DS-1 50 6.0 1 & QT IMP: 7 EW:8 2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ 98 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢ KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2  -500 -8.0 1




X AN >\ ¢ —_—
9 1NEFF2ABEEEFR 2 == RI 9
AYA . o
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
1 9 NS: $&#2= #mEsREIC) -15 13 NS: R#EE HERAR(BHO) 21 VP:| 2.00 18.00 | Total VP: 100.13 Rank:
EW: {528 328 (BFH0) 21 EW: [RES) #3REE(BAC) 15 IMP:| 5 36 7
—
# 11 s QJT42 5CXW-1-100 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 5HN5 -650 Mean: 5HN5 650 4.0 1
v Q975 4SN-2100 -160  5CW-1 50 50 3 v KQ92 4SXE-3 -500 500  4HS5 650 4.0 1
¢ J53 Dif: -200 NS:2 3HS-1 -50 30 1 ¢ T982 Dif: -150 NS:0 5DN5 600 3.0 2
%6 IMP: -5 EW:-6 4SN-2 4100 20 1 & AQJ4 IMP: -4 EW:-4 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 |]|e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 #¢VAN 4, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545 ~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3NS4 -630 Mean: 3NS5 660 30 6 ||# 14 a4 2NN-1 50 Mean: 3NS3 400 9.0 1
v J2 2DN4 -130 540  3NS4 630 30 7 v AT3 2NN-150 -10  2NS2 120 40 1
¢ AKT8752 Dif: -500 NS:-9 3NN5 660 3.0 2 ¢ AT763 Dif: 0 NS:-1 2NN2 120 40 1
& AT7 IMP: -11 EW:-3 3NS3 600 20 1 & K753 IMP: 0 EW:1 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 -3.0 1
S 24 ~~4 ¢+Q4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 1Ss-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 2SW4 170 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 2DS2 -90 Mean: 3CE-2 200 50 1
v 92 2SE3 140 -130  2NE-1 50 50 1 v A642 3DS-150 10  2SW-2 200 50 1
+ Q95 Dif: 30 NS:0 2DE-1 50 50 1 ¢ 63 Dif: -140 NS:-2 3NE-1 100 30 1
& AT532 IMP: 1 EW:1 2SW2 410 1.0 2 » 874 IMP: -4 EW:-2 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 2swW4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 7.0 1
# 17 » J94 4HE5 450 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 3NS3 -600 Mean: 3NS6 690 3.0 1
v6 4HE5 450 -470  4HE4 420 20 1 v A43 3NS4 -630 590 3NS5 660 2.0 8
* AK2 Dif: 0 NS:1 4HW5 450 1.0 12 ¢ T9 Dif: 30 NS:1  3NS4 630 1.0 3
& QT8643 IMP: 0 EW:-1 4HE5 450 1.0 4 & AKQ87 IMP:1 EW:0 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 %o VAN 4, KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QIT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
W ~~5-~2 W~~~
# 19 & AK954 4HE-1 -100 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 3DXN-1200 Mean: 2HE-1 100 60 1
v KT5 4HE4 620 -290 5HE-1 100 9.0 1 v KJT 2HW2 110 -140 2DS2 90 60 1
92 Dif: -720 NS:-8 4HE-1 100 9.0 5 + QJ82 Dif: 90 NS:1 1NE1 -90 20 1
& 532 IMP: -12 EW:-9 3DS-1 50 6.0 1 & QT IMP: 3 EW:2 2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ ¢8 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2  -500 -8.0 1




X AN >\ ¢ —_—
9 1NEFF2ABEEEFR 2 == RI 9
AYA . o
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
2 O NS: FENER 2 ERZEAC) -8 9 NS: #B{E3E #FER(FO0) 23 VP:| 2.32 17.68 | Total VP: 95.92 Rank:
EW: BEsF R BEEREE(BHO) -23 EW: ZZ8Ei8 213 K(BAC) 8 IMP:| 0 29 9
—
# 11 s QJT42 4HXS-1 100 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 5DN5 -600 Mean: 5HN5 650 4.0 1
v Q975 4NE4 430 -160 5CW-1 50 50 3 v KQ92 4SXE-3 -500 500  4HS5 650 4.0 1
¢ J53 Dif: -330 NS:-7 3HS-1 -50 30 1 ¢ T982 Dif: 100 NS:0 5DN5 600 3.0 2
%6 IMP: -8 EW:-2 4SN-2 4100 20 1 & AQJ4 IMP: -3 EW:-3 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 |]|e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 #¢VAN 4, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545 ~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3NN5 -660 Mean: 3NS5 660 30 6 ||# 14 a4 2NN-1 50 Mean: 3NS3 400 9.0 1
v J2 3NS4 -630 540  3NS4 630 30 7 v AT3 3NN-2 100 -10  2NS2 120 40 1
¢ AKT8752 Dif: -30 NS:3  3NN5 660 3.0 2 ¢ AT763 Dif: -50 NS:-3 2NN2 120 40 1
& AT7 IMP: -1 EW:-3 3NS3 600 20 1 & K753 IMP: -2 EW:1 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 -3.0 1
S 24 ~~4 ¢+Q4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 1Ss-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 4SE-1 -50 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 3CE-2-200 Mean: 3CE-2 200 50 1
v 92 2NE-1-50 -130  2NE-1 50 50 1 v A642 2DS2-90 10  2SW-2 200 50 1
+ Q95 Dif: 0 NS:5 2DE-1 50 50 1 ¢ 63 Dif: 110 NS:2  3NE-1 100 30 1
& AT532 IMP: 0 EW:-5 2SW2 410 1.0 2 » 874 IMP: -3 EW:-5 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 2swW4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 7.0 1
# 17 » J94 4HWS5 450 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 3NS5 -660 Mean: 3NS6 690 3.0 1
v6 4HE5 450 -470  4HE4 420 20 1 v A43 3NS4 -630 590 3NS5 660 2.0 8
* AK2 Dif: 0 NS:1 4HW5 450 1.0 12 ¢ T9 Dif: -30 NS:1  3NS4 630 1.0 3
& QT8643 IMP: 0 EW:-1 4HE5 450 1.0 4 & AKQ87 IMP: -1 EW:-2 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 L X2 N o KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QIT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
W ~~5-~2 W~~~
# 19 & AK954 3DXS-1 100 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 2DS-2 200 Mean: 2HE-1 100 60 1
v KT5 4HE4 620 -290 5HE-1 100 9.0 1 v KJT 1NS-2200 -140 2DS2 90 60 1
92 Dif: -520 NS:-8 4HE-1 100 9.0 5 + QJ82 Dif: 0 NS:-2 1NE1 -90 20 1
& 532 IMP: -11 EW:-5 3DS-1 50 6.0 1 & QT IMP: 0 EW:2 2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ ¢8 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2  -500 -8.0 1




X AN >\ ¢ —_—
9 MEEZ2RABERFLB 2 ==> RY 9
1 +
AYA
#1: 9 BER(124.74) #2: 13 Bk (112.86) #3: 7 Cyclops(102.6)
2 1 NS: Pdat $8{-88EHC) -6 1 NS: 223 21815(F40) 30 VP:| 2.49 17.51| Total VP: 86.23 Rank:
EW: 52[E>t BREEE(BH0) -30 EW: E}1% sRERFH(BAC) 6 IMP:| 6 34 17
— o
# 11 s QJT42 5CXW-1-100 Mean: 5CXW-1 100 6.0 5 [[|# 12 3 4SXE-3 -500 Mean: 5HN5 650 4.0 1
v Q975 4HXS-2 300 -160 5CW-1 50 50 3 v KQ92 3NS3 -600 500  4HS5 650 4.0 1
¢ J53 Dif: -400 NS:-4 3HS-1 -50 30 1 ¢ T982 Dif: 100 NS:3 5DN5 600 3.0 2
%6 IMP: -9 EW:-6 4SN-2 4100 20 1 & AQJ4 IMP: 3 EW:0 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 ||e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 P eVABN L, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 s K 3NS4 -630 Mean: 3NS5 660 30 6 ||# 14 a4 2NN-2 100 Mean: 3NS3 400 9.0 1
v J2 3NS5 -660 540  3NS4 630 30 7 v AT3 1NN-150 -10  2NS2 120 40 1
¢ AKT8752 Dif: 30 NS:3  3NN5 660 3.0 2 ¢ AT763 Dif: 50 NS:-1  2NN2 120 40 1
& AT7 IMP: 1 EW:-3 3NS3 600 20 1 & K753 IMP: 2 EW:3 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 30 1
S 24~~4 oQ4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ #6542 E ~~~~~ & AJ4 18S-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 2SW2 110 Mean: 4SE-1 50 50 1 |[|# 16 4 K975 2SW-2 -200 Mean: 3CE-2 200 50 1
v 92 1SW2 110 -130  2NE-1 50 50 1 v A642 3CE4130 10  2SW-2 200 50 1
+ Q95 Dif: 0 NS:1 2DE-1 50 50 1 ¢ 63 Dif: -330 NS:-4 3NE-1 100 30 1
& AT532 IMP: 0 EW:-1  2SW2 410 1.0 2 » 874 IMP: -8 EW:-5 3DS3 110 30 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 ¢ AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 20 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1 ~~~~ 4762 25W4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 -70 1
# 17 » J94 4HWS5 450 Mean: 6HW-1 50 11.0 1 ||# 18 # 952 3NS5 -660 Mean: 3NS6 690 3.0 1
v6 4HWS5 450 -470  4HE4 420 20 1 v A43 3NS5-660 590 3NS5 660 2.0 8
* AK2 Dif: 0 NS:1 4HW5 450 1.0 12 ¢ T9 Dif: 0 NS:2 3Ns4 630 1.0 3
& QT8643 IMP: 0 EW:-1 4HE5 450 1.0 4 & AKQ87 IMP: 0 EW:-2 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 ¢ QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 %o VAN 4, KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QIT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
W ~~5-~2 W~~~
# 19 & AK954 4HE-1 -100 Mean: 6HE-2 200 10.0 1 ||# 20 4 AT64 2HE-1-100 Mean: 2HE-1 100 60 1
v KT5 4HE4 620 -290 5HE-1 100 9.0 1 v KJT 2DS-1100 -140 2DS2 90 60 1
92 Dif: -720 NS:-8 4HE-1 100 9.0 5 + QJ82 Dif: -200 NS:1  1NE1 -90 20 1
& 532 IMP: -12 EW:-9 3DS-1 50 6.0 1 & QT IMP: -5 EW:-6 2SS-1 4100 1.0 1
o JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ ¢8 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2 500 -8.0 1




¥ ——
9 111 FF >RF{HEHEF IR L ==> RY 9
AYA
#1: 9 BE2(124.74) #2: 13 ﬂ%ﬁi(llz 86) #3: 7 Cyclops(lOZ 6)
22 NS: (BC) 0 1 5 NS: (Fi0) 0 VP:| 0.00 12.00 | Total VP: 0.00 Rank:
EW: (BJ0)0 EW: (BiC) 0 IMP:| 0 0 22
—
# 11 » QJT42 A Mean: 5CXW-1 100 6.0 5 |[# 12 a3 A Mean: 5HN5 650 4.0 1
v Q975 A 160  5CW-1 50 50 3 v KQ92 A 500 4HS5 650 4.0 1
¢ J53 Dif: 0 NS:0 3HS-1 -50 30 1 ¢ T982 Dif: 0 NS:0 5DN5 600 3.0 2
%6 IMP: 0 EW:0 4SN-2 4100 20 1 & AQJ4 IMP: 0 EW:0 3NS3 600 3.0 2
43 # AK6 4HXS-1 100 20 1 ||s 872 & AQJT954 A 00 2
v3 v AJ2 4cwa 130 1.0 1 ||w J5 I v 73 4SXE-3 500 0.0 12
* K862 ¢ T97 A 00 2 |]|e A765 ¢ J3 4SXE-2 300 50 1
& QJ87432 & KT95 4HXS-2 300 -40 2 ||a K752 » 86 3SE-2 100 9.0 1
%o ¢ VAN 49875 3NE3 400 6.0 2 #¢VAN 4, K6
N ~~22 ~ ¢ KT864 4NE4 430 7.0 1 N 545~4 v AT864
S ~~22~ ¢AQ4 3NE4 430 70 1||S 545~4 ¢ KQ4
E 43~~3 &A 5CXW5 550 90 1||E ~~~1~ &T93
W 41 ~~1 5HXS-4 800 -12.0 1 ~~~1~
# 13 a K A Mean: 3NS5 660 30 6 ||# 14 a4 A Mean: 3NS3 400 9.0 1
v J2 A 540  3NS4 630 30 7 v AT3 A 10  2NS2 120 40 1
¢ AKT8752 Dif: 0 NS:0 3NN5 660 3.0 2 ¢ AT763 Dif: 0 NS:0 2NN2 120 40 1
& AT7 IMP: 0 EW:0 3NS3 600 20 1 & K753 IMP: 0 EW:0 1NN1 90 30 2
& JT632 N & Q75 A 00 2 ||sQJTS5 & A92 A 00 2
v A973 v KT84 3DN4 130 9.0 2 ||e J65 v Q942 25S-1 50 1.0 1
*J -l— ¢ 963 2DN4 130 9.0 2 [|e K2 + Q854 2NN-1 50 1.0 7
& KQ3 » J98 » QT82 & 96 1NN-1 50 1.0 1
oo VAN oA%4 ¢ VAN 4 KB763 3NN-2 100 -3.0 3
N 24 ~~4 ¢Q65 N 33~~1 »K8 3CN-2 100 -3.0 1
S 24 ~~4 ¢+Q4 S 23~~1 ¢J9 2NN-2 100 -3.0 1
E ~~11~ £6542 E ~~~~~ & AJ4 1Ss-3 150 40 1
wv ~~11~ W ~~~~~
# 15 4 AB3 A Mean: 4SE-1 50 50 1 |[|# 16 4 K975 A Mean: 3CE-2 200 50 1
v 92 A 130  2NE- 50 50 1 v AB42 A 10  2SW-2 200 50 1
+ Q95 Dif: 0 NS:0 2DE-1 50 50 1 ¢ 63 Dif: 0 NS:0 3NE-1 100 30 1
& AT532 IMP: 0 EW:0 2SW2 410 1.0 2 » 874 IMP: 0 EW:0 3DS3 110 3.0 1
& KJ542 & Q87 1SW2 110 1.0 1 ||s AQ84 a 32 2DS3 110 3.0 1
v T654 v Q8 A 00 2 ||ewT985 — v K73 2CE-1 100 30 1
* K4 * AJT83 3SW3 140 0.0 1 ||e K54 *QJ 2DS2 90 20 5
& J9 » KQ8 2SW3 140 00 4 ||a 62 » KQJT53 A 00 2
FOVAN ,T9 2SE3 140 00 3 VBN 4 JT6 3DS-1 50 2.0 2
N 1~~~ ~ 9AKJ73 1NE2 120 00 1[N ~2~1~ »QJ 3CE3 110 3.0 1
S 1~~~~ 4762 2swW4 470 10 1 ||S ~2 ~1 ~ ¢ AT9872 2HE2 410 3.0 1
E ~3~31 #764 2SE4 470 10 1||E 2~1~1 & A9 3CE4 130 40 2
W ~3~31 2HS-2 200 20 1 2~1~1 2CE4 130 40 3
3CN-3 300 50 1
3NE3 400 7.0 1
# 17 » J94 A Mean: 6HW-1 50 11.0 1 [|# 18 # 952 A Mean: 3NS6 690 3.0 1
vb6 A -470  4HE4 420 20 1 v A43 A 590 3NS5 660 2.0 8
* AK2 Dif: 0 NS:0 4HW5 450 1.0 12 ¢ T9 Dif: 0 NS:0 3NS4 630 1.0 3
& QT8643 IMP: 0 EW:0 4HE5 450 1.0 4 & AKQ87 IMP: 0 EW:0 3NN4 630 1.0 1
a A2 & KQ73 A 00 2 ||s AJ8 & 743 A 00 2
v KJ8532 v AQ9 6HW6 980 -11.0 1 ||v Q52 | v J976 3NS3 600 0.0 6
*3 * 8654 6HE6 980 -11.0 1 ||e 85 * QJ742 6NS-2 200 -13.0 1
& J752 » AK » T6532 a9
¢ VAN 4, T865 L X2 N o KQT6
N ~~~~~ v T74 N 5~~45 ¢ KT8
S ~~~~~ + QJT97 S 5~~45 ¢ AK63
E ~~5~2 a9 E ~~~~~ & J4
wv ~~5~2 W~~~ ~~
# 19 & AK954 A Mean: 6HE-2 200 100 1 ||# 20 o AT64 A Mean: 2HE-1 100 60 1
v KT5 A -290 5HE- 100 9.0 1 v KJT A 140 2DS2 90 60 1
92 Dif: 0 NS:0 4HE-1 100 9.0 5 + QJ82 Dif: 0 NS:0 1NE1 -90 20 1
» 532 IMP: 0 EW:0 3DS-1 50 6.0 1 & QT IMP: 0 EW:0 2SS-1 4100 1.0 1
JT & Q32 3DXS-1 4100 50 1 ||a K75 a J92 2NE2 120 1.0 1
v QJ63 v A9742 A 00 2 ||v 876532 _I_ v Ad 2HW2 110 1.0 4
¢ AT53 . 3DXS-2 300 00 1 ||e4 * KT97 2DS-1 4100 1.0 1
& 876 & AKJT4 4HE4 620 -8.0 10| |a AK9 #» J653 2DN-1 4100 1.0 1
B¢V AN 4876 *eVAN 4, Q83 1NE2 120 1.0 1
N ~1~~~ 98 N ~1~1~ »Q9 A 00 2
S ~ 1~~~ ¢ KQJ8764 S ~1~1~ ¢A653 2HW3 140 0.0 1
E 4~4~3 &Q9 E 1~2~1 #8742 2HW4 470 1.0 1
W 4 ~4~3 1~2~1 3DXN-1 200 20 1
3DN-2 200 20 1
2DS-2 200 20 1
1NS-2 200 20 1
3DXS-2 500 -8.0 1
3DXN-2  -500 -8.0 1




